Division par Puissances de Dix (])

67 + 1071

90 + 1072

70 =~ 1071

15+ 1073

36+ 1073

19 = 1072

50 = 1073

94 + 1072

62+ 1071

99 + 1072

Trouvez chaque quotient.

7+107"%=

50 +~10"1=

87 ~+107t=

93 + 107 ' =

97 + 1073 =

17 =103 =

11 +-1073 =

58 - 1073 =

64 +107% =

40 +107% =
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Division par Puissances de Dix (J) Solutions

67 + 1071 =670

90 +~ 1072 =9 000

70 + 1071 =700

15+ 1073 =15 000

36 + 1073 =36 000

19 +1072=1900

50 + 1073 =50 000

94 + 1072 =9 400

62+ 1071 =620

99 +~ 1072 =9900

Trouvez chaque quotient.

7 +107* =700

50 + 107 =500

87 + 10" =870

93 + 107 =930

97 + 1073 =97 000

17 +1073 =17 000

11 +1073=11000

58 +~107*=58000

64 + 1072 =6400

40 +1072=4000
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